Warmup
Have homework out on desk with your name on it. Keep it there until | say to

turnitin

Create the explicit and the recursive for each sequence
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Module 1.4 Arithmetic Sequences Notes

What Does It Mean?
A Solidify Understanding Task

Each of the tables below represents an arithmetic sequence.

Find the missing terms in the sequence, showing your

method.
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4. Describe your method for finding the missing terms. Will the method always work? How do you
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Here are a few more arithmetic sequences with missing terms. Complete each table, either using

the method you developed previously or by finding a new method.
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8. The missing terms in an arithmetic sequence are called “arithmetic means”. For example, in the

problem above, you might say, “Find the 6 arithmetic means between -23 and 5". Describe a

method that will work to find arithmetic means and explain why this m%thod works.
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Practice problems (for the white sheet you picked up) 4) Given the recursive defintion, create the

licit definiti
1) Given the equation An = 5n - 5, find the following explicit detinition

terms A1=8 An=An1-4

As Ais Ass

2) Given the 14th term and the common difference, 5) Given the explicit definition, create the
find the 40th term. recursive definition

Ai2=200 d=-10 An=-6+3n

3) Given the 5th and 9th term, create the explicit and
recursive

As =19  A9=35



